1 (Sem-3) MDCO04/09

2024

Paper : MDC0300403/MDC0300903
( Personal Income Tax Planning )
Full Marks : 45

Time : 2 hours

The figures in the margin indicate full marks
for the questions '

1. Answer the following as directed : 1x5=5
fAgPIRpTR et frameare Tee fira
(a) In which year was the Income-tax Act
passed?
(T TS S T RS (2fee ?

(b) The tax that an assessee pays directly to

the tax authority is called
( Fill in the blank )

qE FOE FEHE CIeDEIE B 99 fiea
oF__ @WE |

( = o1 oEe )
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()

(d)

(e)

(2)

Health insurance premium comes
under which Section of the Income-tax
Act, 19617

T A AR, wEes wiw, 19619 @R
qI9re =102 ?

() 80 C

(ii) 80 CC

(iii) 80 D

(iv) 80 DD

( Choose the correct answer )
(o Teach! q1f% Shyear )

Write one consequence of not filing
Income tax returns.

S 35T TR T By w1l faey |
Name one tax saving investment for

reducing tax.

T M 2P IRE A = G R
I for | 3 0

2. Answer any five of the following questions -
2x5=10

GoTS fidl e & (e b Ty Ry

A25/274

()

(c)

(@)

(e)

A25/274

(3)

\\-;""::' -
Name two incomes from housé froperty
which are exempted from tax under the
Indian Tax Act, 1961.

sz FeIfeR o/ ¢l o1 i A ot fee
e 9 e, 19617 i 39 (=R W

== |

State two benefits available to senior
and super senior citizens under the
Income-tax Act, 1961 while calculating

income tax.

HEF S I ITTS SR Wiz, 19613
AT &P uF S @y 6T AE TR
o1 AR T 40|

Write the meaning of perquisites under
the Indian Income-tax Act, 1961.
SROE SRFT e, 196137 SRS SRfAS
A-AfRerE s |

Mention two differences between direct
tax and indirect tax.

o[ 99 TF ACEE 99 TGS AT 1 A1
ey 41|
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(4)

(/ Define person under the Indian
Income-tax Act, 1961.

TIOR AT iz, 19613 TS AfET 7w
e

(g9 What do you mean by assessee under
the Indian Income-tax Act, 19617
SO TEPY Wizd, 19617 GaMe FEqiel
FfeceT T e 2

(h) Who is a non-resident?

SR &I 2

(i) What is provident fund?

S qe &2

() What is capital asset?
TeA4eT IS e 9

3. f'&nswer any four of the following questions
(in about 200 words each) : 5x4=20

T R I B e g o (aifech 200
%WE):

(@) Explain in detail about the scope of
personal tax planning.

Wﬁwwﬁﬁmﬁﬁwﬁn@ﬁ@m
AT F4T

S ( Continued )

(b)

()

(d)

(e)

(g)

A25/274

(5)

State the meaning of capital gain in
detail.

T e o e o

Define Assessment Year and Previous

Year.

<9 Frefre 23 o ~Ha8) Iad el fr |

What are the benefits of filing income

tax returns?

e R wike 3R & 6 s 2732

State five incomes exempted from tax.

39 @33 ¢ <oy« SoEy F40

Explain what is net annual value.

o AR o T 1, qzeAR o |
What are the various allowances

available to employees?

i i & & Rfen ot =R ?
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(h)

A25/274

(6)

Kamal Kalita owns a house property
which is let out by him for ¥ 6,000 per
month. The following particulars of the
house are provided :

e Fleren, FEd 99 @B WIEE 6,000 e
el f1ed | 999 R were fan 49919

Municipal value—< 70,000
¢4 JEHEF—70,000 51
Standard rent—<X 80,000
% STel—80,000 5

Fair rent—< 75,000

TR ©[e—75,000 5l

Municipal tax for the house is 10% of the G ()

municipality valuation whiéh is fully
paid by the owner for the previous year
2023-24. You are required to determine
his income from house property for the
Assessment Year 2024-25,

TWER AE CIPTER 9 TR e 10%
RG 7a® T 2023-24 =R qE qRICS
soefqce  ARCTE IR 2024-25 R
fRTEa 79 AT TR R T i e
<41

( Continued )

(7)

4. Answer any one of the following : 10
oS fraraeR & @ @i ey fa
(a) Explain various heads of income under
the Income-tax Act, 1961. 10
AT WiEAW, 19617 whMe wEe fafen
PrerrEs R < = |
(b) Write notes on : 5+5=10
(oI fora
(i) Residential status
BMICE{CEREEE
(i) Annual Information System
T =2 =
Define salary. Explain in detail about
different components of salary under
the Income-tax Act, 1961. 3+7=10
w2 e W | SEed Wiz, 19617 S8 s
v [ifon Semme R Rese amm w97
(d) What is new tax regime? How is new tax
regime different from old tax regime?
3+7=10

A25—15*/274

T 9 IR 7 o[ T INEOT Tom g
T (PG 72 ?
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